



Ex:1

Rezolvați ecuația $2x^5 + 3x^4 + 2x^3 + 2x^2 + 3x + 2 = 0$ știind că $x_1 = \frac{1+i\sqrt{3}}{2}$

$$x_1 = \frac{1+i\sqrt{3}}{2}$$



$$x_2 = \frac{1-i\sqrt{3}}{2}$$

Polinomul este divizibil cu:

$$\begin{aligned} \left(x - \frac{1+i\sqrt{3}}{2}\right)\left(x - \frac{1-i\sqrt{3}}{2}\right) &= \left(x - \frac{1}{2} + \frac{i\sqrt{3}}{2}\right)\left(x - \frac{1}{2} - \frac{i\sqrt{3}}{2}\right) = \\ &= \left(x - \frac{1}{2}\right) - \left(\frac{i\sqrt{3}}{2}\right)^2 = x^2 - x + \frac{1}{4} + \frac{3}{4} = x^2 - x + 1 \end{aligned}$$

$2x^5 + 3x^4 + 2x^3 + 2x^2 + 3x + 2$	$x^2 - x + 1$
$-2x^5 + 2x^4 - 2x^3$	<hr/>
$5x^4 + 2x^2$	$2x^3 + 5x^2 + 5x + 2$
$-5x^4 + 5x^3 - 5x^2$	
$5x^3 - 3x^2 + 3x$	
$-5x^3 + 5x^2 - 5x$	
$2x^2 - 2x + 2$	
$-2x^2 + 2x - 2$	
$=$	$=$



$$(2x^3 + 5x^2 + 5x + 2)(x^2 - x + 1) = 0$$

$$2x^3 + 5x^2 + 5x + 2 = 0$$

$$2(x^3 + 1) + 5x(x + 1) = 0$$

$$2(x + 1)(x^2 - x + 1) + 5x(x + 1) = 0$$

$$(x + 1)[2(x^2 - x + 1) + 5x] = 0$$

$$(x + 1)(2x^2 - 2x + 2 + 5x) = 0$$

$$(x + 1)(2x^2 + 3x + 2) = 0$$

$$x_3 = -1$$

$$x_{4,5} = \frac{-3 \pm i\sqrt{7}}{4}$$

$$x^2 - x + 1 = 0$$

$$x_{1,2} = \frac{1 \pm i\sqrt{3}}{2}$$